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—&lles JIes 6, 160*59kw+10JH & 3,635
—dIIR3 AIER 10,620kwh*150% 104 & 15,930
OFXEHY A& EHl SXdl 10,000, 000+1 10,000
ZSI2UARL AE 221,500 221,500
401 Al& I 28I 221,500 221,500
01 A& HI 220,000 220,000
O&ASE 220,000
—Jl2 & AAEH 89| 170,000, 000 170,000
—2tZ AB(BF, NUNEE, HZUHKAE
Sz &L ASLE Uy 33,000, 000 33,000
—4dASZE A3 170,000, 000* 10% 17,000
03 A& =2 THHI 1,500 1,500
OAl& 2| 1,500,000 1,500
2 AHOI LT XI = OF ALY 172,000 172,000
= 60,000
Al 112,000
401 Al HI & 28I 172,000 172,000
= 60,000
Al 112,000
01 A& HI 159,000 159,000




M 3

A THarete

el ®ArEE (el @2)
SN FHE - B(SA) - MEAY - BHES Ol &+ o4 SSa HlmE2
O3 AL EEFHAI| WA AAIEH
9,000, 000 9,000
O3 &AL =T BHAYE 150,000,000 150,000
= 60,000
Al 90,000
02 Zeltl 12,000 0 12,000
O23EA S=:HAI| WHAY 2eldl
12,000,000 12,000
03 Al =2 THHI 1,000 0 1,000
O3 HEA S=HAI| WHAY S0
1,000,000 1,000
S EX 2 311,530 171,140 140,390
SEXE 22 311,530 171,140 140,390
201 L2l 177,970 171,140 6,830
01 At 22l 6,830 0 6,830
OE2nsEY 2 & 2l &N 2L
100,000%25 200
O =2 222 IIx5 AUz #Fits <
27 150,000%25H 3,750
ozgxze ALEX I
8,000%6%H x5 x 128 2,880
02 22224l 171,140 171,140 0
OXt= XHAl 3,080
—HaEgss 500, 000*2CH 1,000
— g A 150,000+ 1CH 150
—SEa 100, 000*1CH 100
— =858 450,000%4CH 1,800
= 30,000+ 1CH 30
Oostgie 23 50,000*1CH »23] 100
OXtg. o ey 167,960
—DN=E2 S ¢ ololfAas A
20,000%203 x 122 4,800
—BHA AX 30,000%2CH 23] x12& 1,440
—S&X ¥ 3=A AX
20,000+7CH =13 x12& 1,680
— NS EAN =22 350,000 350
— ¢ =4l 51,450
HESE(ZS)  1,300%25,000km1CH *12% 3,900
L28E2(ER)  1,300%15,000km+1CH *15% 2,925
ZEZES5E(ESR) 1,300%20,000km+*1CH*12% 3,120
ZSSE(ESR)  1,300%20,000km+*1CH*27% 7,020
HESE(ZS)  1,300%18,000km* 1CH *40% 9,360
ZSSE(ESR)  1,300%40,000km+1CH *15% 7,800
EESE(ER)  1,300%25,000km+1CH*15% 4,875
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CEH SR (BH) - NBAY - B2 o A o SSa H RS2
TEEEIEED)
1,500*30,000km*1CH *17% 7,650
TESE(FLR)
1,500*20,000km*1CH * 16% 4,800
—XAN=Ex 22 (9800) 100,000,000 100,000
— R A 22yl 800, 000+9CH 7,200
— Z2EXNEFXDA A L=4AH| 1,040,000 1,040
202 04| 18,060 18,060
01 2LHOHI 5,820 5,820
OXNHdt2HARFE 5,820
—XESHALEE OfH|
30,000%69 2 x12& 4,320
— 23 HMESU3 & 2408 (Z, THOHZ Al
) 30,000%25Y 23| 1 1,500
02 EHNYI 12,240 12,240
O2d3 FHoyl 170,000x6H x12& 12,240
301 et X = 1,500 1,500
09 HALAHIXI &= 1,500 1,500
O =2 2HB2A IIE MsU3 &t
20,000%x40H x 1 800
OXNMEA SHESLRE IIE A0S FIt
20,000%x35H x 1! 700
405 XHAHE S 114,000 114,000
01 JHM =2 ZF SHI 114,000 114,000
O38xg A 2 57,000, 000%2CH 114,000




